This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 11 - Coatbridge South

4,849

4

970

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Andrew BUSTARD	Scottish Labour Party	1,100
Tracy CARRAGHER	Scottish National Party (SNP)	1,384
Tony GRIMASON	Independent	149
Graham James KERR	Scottish Greens - Think Global Act Local	101
Fergus MACGREGOR	Scottish National Party (SNP)	1,195
Peter MURRAY	Scottish Conservative and Unionist	327
Geraldine WOODS	Scottish Labour Party	593
	Total	4,849

Candidate Andrew BUSTARD Elected with 1,100 votes, being in excess of the quota of 970 Candidate Tracy CARRAGHER Elected with 1,384 votes, being in excess of the quota of 970 Candidate Fergus MACGREGOR Elected with 1,195 votes, being in excess of the quota of 970

This report contains the transfers results.

Stage 2 - Surplus of Tracy CARRAGHER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tony GRIMASON	105	0.29913	31.40865
Transfer to Graham James KERR	426	0.29913	127.42938
Transfer to Peter MURRAY	20	0.29913	5.98260
Transfer to Geraldine WOODS	276	0.29913	82.55988
No further preference	557	0.29913	166.61541
Not transferred due to rounding			0.00408
	Total		414.00000

This report contains the transfers results.

Stage 3 - Surplus of Fergus MACGREGOR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tony GRIMASON	121	0.18828	22.78188
Transfer to Graham James KERR	337	0.18828	63.45036
Transfer to Peter MURRAY	11	0.18828	2.07108
Transfer to Geraldine WOODS	233	0.18828	43.86924
No further preference	493	0.18828	92.82204
Not transferred due to rounding			0.00540
	Total		225.00000

This report contains the transfers results.

Stage 4 - Surplus of Andrew BUSTARD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tony GRIMASON	35	0.11818	4.13630
Transfer to Graham James KERR	43	0.11818	5.08174
Transfer to Peter MURRAY	80	0.11818	9.45440
Transfer to Geraldine WOODS	798	0.11818	94.30764
No further preference	144	0.11818	17.01792
Not transferred due to rounding			0.00200
	Total		130.00000

This report contains the transfers results.

Stage 5 - Exclusion of Tony GRIMASON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham James KERR	31	1.00000	31.00000
Transfer to Peter MURRAY	28	1.00000	28.00000
Transfer to Geraldine WOODS	43	1.00000	43.00000
Transfer to Graham James KERR	50	0.29913	14.95650
Transfer to Peter MURRAY	1	0.29913	0.29913
Transfer to Geraldine WOODS	15	0.29913	4.48695
Transfer to Graham James KERR	41	0.18828	7.71948
Transfer to Peter MURRAY	4	0.18828	0.75312
Transfer to Geraldine WOODS	13	0.18828	2.44764
Transfer to Graham James KERR	9	0.11818	1.06362
Transfer to Peter MURRAY	3	0.11818	0.35454
Transfer to Geraldine WOODS	18	0.11818	2.12724
No further preference	47	1.00000	47.00000
No further preference	39	0.29913	11.66607
No further preference	63	0.18828	11.86164
No further preference	5	0.11818	0.59090
Not transferred due to rounding			0.00000
	Total		207.32683

This report contains the transfers results.

Stage 6 - Exclusion of Graham James KERR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter MURRAY	12	1.00000	12.00000
Transfer to Geraldine WOODS	45	1.00000	45.00000
Transfer to Peter MURRAY	29	0.29913	8.67477
Transfer to Geraldine WOODS	153	0.29913	45.76689
Transfer to Peter MURRAY	11	0.18828	2.07108
Transfer to Geraldine WOODS	121	0.18828	22.78188
Transfer to Peter MURRAY	11	0.11818	1.29998
Transfer to Geraldine WOODS	18	0.11818	2.12724
No further preference	75	1.00000	75.00000
No further preference	294	0.29913	87.94422
No further preference	246	0.18828	46.31688
No further preference	23	0.11818	2.71814
Not transferred due to rounding			0.00000
	Total		351.70108